

VENDOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

DEP14471A

PAGE	٠
1	

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

0H-P-F0

ENVIRONMENTAL PROTECTION
DEPT. OF
OFFICE OF MINING & RECLAMATION
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

TYPE NAME/ADDRESS HERE

ST STANDARD LABORATORIES, INC.

RFQ COPY

Route 2 Box 88 C Belington WV 26250

TERMS OF SALE DATE PRINTED \$HIP VIA F.O.B. FREIGHTTERMS 07/23/2009 BID OPENING TIME **BID OPENING DATE:** 08/13/2009 01:30PM LINE QUANTITY UOP ITEM NUMBER UNITPRICE AMOUNT 0001 LS 961-48 WATER SAMPLING 250 LOCATIONS THROUGHOUT COAL REGIONS THE WEST VIRGINIA PURCHASING DIVISION, FOR THE AGENCY, THE WEST VIRGINIA DEPARTMENT OF ENVIRONMENTAL PROTEC-TION, IS SOLICITING BIDS FROM QUALIFIED VENDORS TO PROVIDE WATER TESTING SERVICES AS DESCRIBED BELOW PER THE FOLLOWING SPECIFICATIONS, BID REQUIREMENTS, TERMS & CONDITIONS, AND THE ATTACHED BID SCHEDULE. VENDOR TO COLLECT AND CONDUCT LABORATORY ANALYSIS ON WATER SAMPLES AT APPROXIMATELY 250 SITE LOCATIONS THROUGHOUT THE STATE OF WEST VIRGINIA. RECEIVED SAMPLING TO BE CONDUCTED ON A MONTHLY BASIS FOR ITEMS I THROUGH 16 ON THE BID SCHEDULE WITH AN EXPANSION 2009 AUG 12 A 10: 2b QUARTERLY OF ITEMS 17 THROUGH 39 ON BID SCHEDULE. FURTHUR EXPANSION OF COLLECTIONS TO BE CONDUCTED ON BASING DIVISION BIANNUAL BASIS OF BENTHIC SAMPLING, ITEM 40. STATE OF WV ITEM 41 INCLUDES ALL COSTS TO COLLECT SAMPLE FROM SITE ALL TEST RESULTS ARE TO BE SUBMITTED ELECTRONICALLY TO DEP 601 57TH STREET, CHARLESTON, WV 25304. THE LOCATION OF THE SAMPLING SITES MAY BE VIEWED ON THE DEP WEB SITE AT HTTP://GIS.WVDEP.ORG/KML/TREND STA TIONS.KMZ THE VENDOR MUST BE A WEST VIRGINIA CERTIFIED SEE REVERSE SIDE FOR TERMS AND CONDITIONS SIGNATURE TELEPHONE (304) 457 - 5609 LABORATORY Mahager ADDRESS CHANGES TO BE NOTED ABOVE 55-0533635



VEZ DOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEP14471A

PAGE 2

CHUCK BOWMAN
304-558-2157

OT-n FO

ENVIRONMENTAL PROTECTION
DEPT. OF
OFFICE OF MINING & RECLAMATION
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

RFQ COPY TYPE NAME/ADDRESS HERE

> SL STANDARD LABORATORIES, INC. Route 2 Box 88 C Belington WV 26250

DATE PRINTE	D	JER	MS OF SALE	SHIP	/IA	F,O/B	FREIGHTTERMS	
07/23/2	2009							
BID OPENING DATE:		08/13/	Trees are a considerable and the contract of t		BID (DPENING TIME	01:30PM	Paragraphic and the second
LINE	QUAN	TITY	UOP CAT	ITEMNU	MBER	UNIT PRICE	AMOUNT	
	000000000000000000000000000000000000000	200000000000000000000000000000000000000						
	ABMBAT	rapv	AL PENU	DED METUNE	S END T	HE PARAMETER	l l	1
						BASIS GROUPS	миет	1
						LE TO DETECT		1
						ED IN 46CSR1.		
						D BE OBTAINED		
F	ROM TI	HE WVD	NR FISH 8	WILDLIFE	OFFICE.	THE COMPANY	MUS	
						SAMPLING. TH		-
						E41-B-99-002	FOR	l
u	ISE IN	STREA	MS WILL I	E FOLLOWED).			-
						<u> </u>		
						S'ARE TO INDI		
						-41 AND TO EX		
						ENDED PRICE		1
			ITLED TO			THE BOTTOM (ļ
						DED SUM OF TH	į.	
L.	INES	1-41.	-		***************************************			
v	/ENDORS	S ARE	TO MAKE 1	O DTHER CA	LCULATI	ONS ON THIS	AVE	
В	BID SCH	HEDULE	(IE., MC	NTHLY, QUA	RTERLY	OR YEARLY CO	DSTSD	-
***************************************				-				
1	XHIBIT	15					***	
l l	TEE OF	ะ กกมา	RACT:	HIE CONTOA	CT PECO	MES EFFECTIVE	-	
I				S FOR A PE				
						HEREAFTER AS	TS	
				NEW CONTR				
						ME" PERIOD SH	HALL	***************************************
) MONTHS.		THIS "REASON		
1		- 1	l [5	F .	NTRACT FOR AN		İ
l l		1		E DIRECTOR	OF PUR	CHASING 30 DA	AYS	
W	RITTEN	I TON P	CE.]
**************************************	MI ECC	CDECT	ETC BBCV	STONE ARE	CTIDIII	TED ELSEWHERE	_	
						CONDITIONS AN		***************************************
				E FIRM FOR			10	***************************************
EICHATI IDC			SEE	EVERSE SIDE FOR T	ERMS AND CON TELEPHONE	DITIONS	IDATE /	
SIGNATURE	MAZ	1-w	70		30	4-457-5609	DATE 8/10/09	
TITLE LAB MANA	7		ⁱⁿ 55-053	3635		ADDRESS CI	ANGES TO BE NOTED ABOVE	



NOONEY

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEP14471A

ADDRESS:CORRESPONDENCE TO A ITEM HONOR

CHUCK BOWMAN 304-558-2157

ENVIRONMENTAL PROTECTION DEPT. OF OFFICE OF MINING & RECLAMATION 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

RFQ COPY TYPE NAME/ADDRESS HERE

SI STRNOARD LABORATORIES, INC. Route 2 Box 88 C Belington WV 26250

DATE PRIN	TED	766	RMS OF SALE	SHIP VI		F08	FREIGHTTERMS
07/23/		<u> </u>					
BID OPENING DATE		<u>08/13/</u>		300 000 000 000 000 000 000 000 000 00	BID O	PENING TIME 01	:30PM
LINE	QUA	NTITY	UOP CAT	ITÉM NUME	ER .	UNITPRICE	AMOUNT
		****************			8.0000.000.000.000		
	CONTRA	СТ					
	CONTINA						
	RENEWA	L: THI	S CONTRA	T MAY BE RE	NEWED U	PON THE MUTUAL	
	WRITTE	N CONS	ENT OF T	E SPENDING	UNIT AN	D VENDOR,	
						THIRTY (30)	
						H RENEWAL SHALL	
						DITIONS OF THE	
				SHALL BE L	IMITED	TO TWO (2) ONE	
	(1) YE	AR PER	Irons.				
	CANCEL	LATION	HE DI	ECTOR OF PU	RCHASTN	G RESERVES THE	
						LY UPON WRITTEN	
						AND/OR SERVICES	
	SUPPLI	ED ARE	OF AN I	IFERIOR QUAL	ITY OR	DO NOT CONFORM	
	TO THE	SPECI	FICATION	OF THE BID	AND CO	NTRACT HEREIN.	
						CHASING MAY	
***************************************				UNIT TO PUR		TION OR COST	
****				FIED ON THI			
						O UNFORESEEN	
						LAYS IN TRANS-	
						IN THE VOLUME	
	OF WOR						
]							
]						QUISITION ARE	
						SUPPLIED BY	
	THAT T	HE CON	ENDING O	III. COVER TO	UNDERST	OOD AND AGREED ITIES ACTUALLY	
	DRDERE	NE CUN	DELIVERY	DUDING THE	TERM OF	THE CONTRACT,	
				THAN THE QU			
**************************************		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				o onomni	
SAMPLE PARTY NAME OF THE PART	BANKRU	PTCY:	IN THE	VENT THE VE	NDOR/CO	NTRACTOR FILES	
	FOR BA	NKRUPT	CY PROTE	TION, THE S	TATE MA	Y DEEM THIS	
	CONTRA	CT NUL	L AND VO	CE, AND TER	MINATE	SUCH CONTRACT	
	WITHOU	T FURT	HER ORDEI	· •			
	l 		SEE	RÉVERSE SIDE FOR TER	MS AND COND	ITIONS	
SIGNATURE	Tutez	(200)	5		LEPHONE	· 457-5609 DATE	8/10/09
TITLE Lab Mar	nagee	FE	IN 55 - 05.	 33635	501		TO BE NOTED ABOVE
				+ ·			



ANDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEP14471A

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

ENVIRONMENTAL PROTECTION
DEPT. OF
OFFICE OF MINING & RECLAMATION
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

ST STANDARO LABORATORIES, NC.
Route 2 Box 88 C
Belington WV 26250

TYPE NAME/ADDRESS HERE

RFQ COPY

DATE PRINTED TO	RMS OF SALE	SHIP VIA	F.C.B	FREIGHT TERMS
07/23/2009 BID OPENING DATE: 08/13	/		ARMITICA TRICE	
				:30PM
LINE QUANTITY	UOP CAT NO	ITEM NUMBER	UNIT PRICE	AMQUNT
	L	1		
THE TERMS AS	D CONDITIO	NS CONTAINED IN	TUTE CONTRACT	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1	D ALL SUBSEQUENT		
		PPEAR ON ANY ATT		
		E LISTS, ORDER F		
		NCE AGREEMENTS,	INCLUDING ANY	
ELECTRONIC	JEDIOM SOCH	AS CD-RUH.		
	NOT	ICE		
AN ORIGINAL	, SIGNED BI	D MUST BE SUBMIT	TED TO:	
		INISTRATION		
BUILDI	SING DIVISI	UN		
i t	1 1	TREET, EAST		
	STON, WV 2			
DID WIST CO	TATA THE	THEODMATION ON T	NE EVCE VE	
		INFORMATION ON T D MAY NOT BE CON		
				F133333444
SEALED BID				
BUYER:		CB-23		
	·	,		
RFQ. NO.:	***************************************	DEP14471A		
BID OPENING	DATE:	08/13/2009		
BID OPENING	TIME:	1:30 PM		
			•	4444
	l l	 Verse side for teams and col	NOTIONS	
SIGNATURE	ODE NE	TELEPHONE	IDATE	8/10/09
TITLE MANY CHIL	FEIN		04-457-5609	TO BE NOTED ABOVE
Lab Managele	55-053	0 655	ADDRESS CHANGES	TO DE NOTED ADOVE

Rt. 2 Box 88C Belington, WV 26250 Phone: (304) 457-5609 Fax: (304) 457-1562 Email: mdcrites@standardlabs.com

August 11, 2009

West Virginia Department of Administration Purchasing Division Building 15 2019 Washington Street, East Charleston, WV 25305-0130

RE: RFQ No. DEP14471A, Water Sampling 250 Locations throughout Coal Regions

Mr. Chuck Bowman:

Standard Laboratories, Inc. is pleased to submit the following response to bid package DEP14471A for water sampling 250 locations throughout the state's coal regions. With a laboratory located in both the state's northern (Barbour County) and southern (Kanawha County) coal regions we believe we have a unique opportunity to provide a more cost-effective, comprehensive service as a systemic resource.

We appreciate the opportunity to offer our services to the West Virginia Department of Environmental Protection. If you have any questions or concerns, please feel free to contact me at (304) 457-5609 or by email at mdcrites@standardlabs.com.

Sincerely,

Misty Crites

Laboratory Manager

Standard Laboratories, Inc.



MODEMA

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. FREIGHT TERMS

DEP14471A

304-558-2157

PAGE 5

ADDRESS CORRESPONDENCE TO ATTENTION OF CHUCK BOWMAN

RFQ COPY TYPE NAME/ADDRESS HERE

Belington WV 26250

STANDARD LABORATORIES, INC. Route 2 Box 88 C ENVIRONMENTAL PROTECTION
DEPT. OF
OFFICE OF MINING & RECLAMATION
601 57TH STREET SE
CHARLESTON, WV
25304
304-926-0499

07/23/										
BID OPENING DATE:	**********	08/13/	2009	povezavanenia.		BI	D OF	ENING TIME	01:	30PM
LINE	QUAN	VTITY	LOP	ÇAT NO:	пе	MINUMBER		UNITPRICE		AMOUNT
	PLEASE TO CON	PROVI TACT Y	DE A OU RE	FAX N GARDI	NG YOUI	IN CASE R BID: - 457-7.		S NECESSARY		
		T PERS				CLEARLY):			
	*****	THIS	IS T	HE EN	D OF RI	FO DEP1	447]	A ***** TOT	AL:	574,210.00
									ACHININA AND AND AND AND AND AND AND AND AND A	
	Anna de la companione d		A STATE OF THE STA						etima diseri	
	Address of the state of the sta						epistasinepinema propativitati		The second secon	
SIGNATURE M	when the	-ut				OR TERMS AND	CONDI	-457-5609 P		110/09
TITLE Lab MAI	VAGER	F	™ <i>55</i>	053	3635			ADDRESS CHAN	IGES TO	D BE NOTED ABOVE

BID SCHEDULE DEP14471A

To collect and conduct laboratory analysis on water samples at approximately 250 site locations throughout the State of West Virginia. Quantities listed are for bidding purposes only.

ITEM				
NO.	QUANTITY	DESCRIPTION	UNIT PRICE	AMOUNT
1	3,000 each	Ph	0.00	\$
2	3,000 each	Temperature	0.00	\$
3	3,000 each	Flow	0.00	\$
4	3,000 each	Total hot acidity	5.56	\$ 16,480.00
5	3,000 each	Mineral acidity	5.56	\$ 16,680.00
6	3,000 each	Total alkalinity	5.56	\$ 16,680.00
7	3,000 each	Total Fe	7.12	\$ 21,360.00
8	3,000 each	Dissolved Fe	8.90	\$ 2.6, 700.00
9	3,000 each	Total Mn	7.12	\$ 21,360.00
10	3,000 each	Dissolved Mn	8.90	\$ 26,700.00
11	3,000 each	TSS	5.79	\$ 17,370.00
12	3,000 each	TDS	5.79	\$ 17,370,00
13	3,000 each	Specific conductance	3.56	\$ 10,680.00
14	3,000 each	Sulfates	6.90	\$ 20,700.00
15	3,000 each	Total Al	7.12	\$ 21,360.00
16	3,000 each	Dissolved Al	8.90	\$ 26, 700.00
17	1,000 each	Total Antimony	12.02	\$ 12,020.00
18	1,000 each	Total Arsenic	12.02	\$ 12,020.00
19	1,000 each	Total Beryllium	12.02	\$ 12,020.00
20	1,000 each	Total Cadmium	12.02	\$ 12,020.00
21	1,000 each	Total Chromium	7.12	\$ 7,120.00
22	1,000 each	Total Copper	12.02	\$ 12,020.00
23	1,000 each	Total Lead	7.12	\$ 7,120,00
24	1,000 each	Total Mercury	17.80	\$ 17,800.00
25	1,000 each	Total Nickel	5.34	\$ 5,340.00
26	1,000 each	Total Selenium	12.02	\$ 12,020.00
27	1,000 each	Total Silver	12.02	\$ 12,020.00
28	1,000 each	Total Zinc	5.34	\$ 5340.00
29	1,000 each.	. Total Thallium	12.02	\$ 12,020.00
30	1,000 each	Total Cyanide	11.57	\$ 11,570.00
31	1,000 each	Total Phenols	14.24	\$ 14,240.00
32	1,000 each	Total Nitrates/Nitrites	10.68	\$ 10,680.00
33	1,000 each	Dissolved Sodium	7.12	\$ 7,120.00
34	1,000 each	Dissolved Calcium	7. /2.	\$ 7,120.00
35	1,000 each	Dissolved Magnesium	7.12	\$ 7,120.00
36	1,000 each	Dissolved Potassium	7.12	\$ 7,120.00
37	1,000 each	Dissolved Bicarbonate	5.56	\$ 5,560,00
38	1,000 each	Dissolved Carbonate	5.56	\$ 5,560.00
39	1,000 each	Dissolved Phosphate	8.90	\$ 8,900.00
40	500 each	Benthic Sampling	120.00	\$ 60,000.00
41	500 hours	Labor Per Site Visit	60.00	\$30,000.00

		TOTAL		\$574,210.00

Company Name: Standard Laboratories, Inc. Date: 8/11/09

Signature: Musty Citt

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

VENDOR OWING A DEBT TO THE STATE:

West Virginia Code §5A-3-10a provides that: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

PUBLIC IMPROVEMENT CONTRACTS & DRUG-FREE WORKPLACE ACT:

If this is a solicitation for a public improvement construction contract, the vendor, by its signature below, affirms that it has a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the West Virginia Code. The vendor must make said affirmation with its bid submission. Further, public improvement construction contract may not be awarded to a vendor who does not have a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the West Virginia Code and who has not submitted that plan to the appropriate contracting authority in timely fashion. For a vendor who is a subcontractor, compliance with Section 5, Article 1D, Chapter 21 of the West Virginia Code may take place before their work on the public improvement is begun.

ANTITRUST:

In submitting a bid to any agency for the state of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the state of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the state of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the state of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership or person or entity submitting a bid for the same materials, supplies, equipment or services and is in all respects fair and without collusion or fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

LICENSING:

Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entities.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

Vendor's Name:	Standa.	d la	boratories,	Inc.			
Authorized Signate					Date: _	8/10/09	
Questacion Affidavit /R						, ,	

147 11th Avenue South Charleston, WV 25303 Phone: (304) 744-5472 Fax: (304) 744-4319

August 13, 2009

West Virginia Department of Administration Purchasing Division Building 15 2019 Washington Street, East Charleston, WV 25305-0130

RE: RFQ No. DEP14471A, Water Sampling 250 Locations throughout Coal Regions

Mr. Chuck Bowman:

Standard Laboratories, Inc. is pleased to submit the following response to bid package DEP14471A for water sampling 250 locations throughout the state's coal regions. With a laboratory located in both the state's northern (Barbour County) and southern (Kanawha County) coal regions we believe we have a unique opportunity to provide a more cost-effective, comprehensive service as a systemic resource.

We appreciate the opportunity to offer our services to the West Virginia Department of Environmental Protection. If you have any questions or concerns, please feel free to contact me at (304) 744-5472 or by email at cyoung@standardlabs.com.

Sincerely,

Claudette Young Laboratory Manager

Standard Laboratories, Inc.

DECEIVED

7009 AUG 19 P 2: 01

CHASING DIVISION STATE OF WY

BID SCHEDULE DEP144471A

To collect and conduct laboratory analysis on water samples at approximately 250 site locations trhoughout the State of West Viriginia. Quantities are for bidding purposes only.

ITEM

NO.	QUANTITY	DESCRIPTION	UNIT PRICE	AMOUNT
dyna, v				
1	3,000 each		\$0.00	\$0.00
2	<u> </u>	Temperature	\$0.00	\$0.00
3	3,000 each		\$0.00	\$0.00
4		Total hot acidity	\$5.56	\$16,680.00
5	3,000 each	Mineral acidity	\$5.56	\$16,680.00
6	3,000 each	Total alkalinity	\$5.56	\$16,680.00
7	3,000 each		\$7.12	\$21,360.00
8		Dissolved Fe	\$8.90	\$26,700.00
9	3,000 each	Total Mn	\$7.12	\$21,360.00
10		Dissolved Mn	\$8.90	\$26,700.00
11	3,000 each		\$5.79	\$17,370.00
12	3,000 each		\$5.79	\$17,370.00
13		Specific conductance	\$3.56	\$10,680.00
14	3,000 each		\$6.90	\$20,700.00
15	3,000 each		\$7.12	\$21,360.00
16		Dissolved Al	\$8.90	\$26,700.00
17		Total Anitmony	\$12.02	\$12,020.00
18	<u> </u>	Total Arsenic	\$12.02	\$12,020.00
19		Total Beryllium	\$12.02	\$12,020.00
20		Total Cadmium	\$12.02	\$12,020.00
21		Total Chromium	\$7.12	\$7,120.00
22		Total Copper	\$12.02	\$12,020.00
23	1,000 each		\$7.12	\$7,120.00
24		Total Mercury	\$17.80	\$17,800.00
25	1	Total Nickel	\$5.34	\$5,340.00
26		Total Selenium	\$12.02	\$12,020.00
27		Total Silver	\$12.02	\$12,020.00
28	1,000 each		\$5.34	\$5,340.00
29		Total Thallium	\$12.02	\$12,020.00
30		Total Cyanide	\$11.57	\$11,570.00
31		Total Phenois	\$14.24	\$14,240.00
32		Total Nitrates/Nitrites	\$10.68	\$10,680.00
33		Dissolved Sodium	\$7.12	\$7,120.00
34		Dissolved Calcium	\$7.12	\$7,120.00
35		Dissolved Magnesium	\$7.12	\$7,120.00
36		Dissolved Potassium	\$7.12	\$7,120.00
37		Dissolved Bicarbonate	\$5.56	\$5,560.00
38		Dissolved Carbonate	\$5.56	\$5,560.00
39		Dissolved Phosphate	\$8.90	\$8,900.00
40	500 each	Benthic Sampling	\$120.00	\$60,000.00
41	500 hours	Labor Per Site Visit	\$42.80	\$21,400.00
nys Veiner		Total		\$565,610.00

Company Name:

Standard Laborato

harleston, W

Date: 8/13/09

Signature:

laudette Young

Swelth 7. Voung